12th Dec 2016

Lecture 9: Just-in-Time & Kanban
System

Dr William Lee




Standard Work
What I1s Standard Work?

The most efficient method to perform
a task, broken down into elements
which are sequenced, organized and
repeatedly followed



Standard Work
Why Standard Work?
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Continuous Flow




Continuous Flow







Continuous Flow
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Continuous Flow

Bottleneck resource defines the rate of production
6 Determine the throughput or capacity of the system

Process time of bottleneck resource propagate

upstream

o Upstream resource will share the same process time although the
actual process times are unchanged

o Idle time of job spend waiting in the machine account for the excess
process time

Queue capacity determine the waiting time of job

In the system.

o Only queues before the bottleneck resource matter

o At steady state, all queues before the bottleneck resource will be filled
o Waiting time = Capacity x Bottleneck process time

6 Reduce Queue size = Reduce Waiting time of job in system
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Continuous Flow
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What is the throughput for 10 days?



Continuous Flow
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What is the cycletime?
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Continuous Flow
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What is the cycletime?
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Continuous Flow
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JIT / Zero Inventory

Inventory hides problem

Finished
Product

Raw

Material
Inventory Level

Long Supplie Process

Lead-times ‘ Imbalances




